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Polymorphism: Intuition

What happens if the RESIDENGT_STUDENT does not declare any additional 
attributes and routines(it just simply inherits from STUDENT), will line 9 compiles? 
Because now the expectation of STUDENT and RESIDENT_STUDENT 
will be the same?
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Ancestors, Expectations, Descendants, and Code Reuse
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Cast Violation at Runtime (4)
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class 
   STUDENT
create
   make
feature -- attribures
   courses: LINKED_LIST[COURSE]
   kind: INTEGER
   premiumRate: REAL
   discountRate: REAL
feature -- command
   make (kind: INTEGER)
     do
       kind := a_kind
     end
   ...
end

get_tuition: REAL
   local
      tuition: REAL
   do
      across courses is c loop 
         tuition := tuition + c.fee
      end
      if kind = 1 then
         Result := tuition * premiumRate
      elseif kind = 2 then
         Result := tuition * discountRate
      end
   end

register (c: COURSE)
   local
      max: INTEGER
   do
      if kind = 1 then MAX := 6
      elseif kind = 2 then MAX := 4 
      end
      if courses.count = MAX then -- Error
      else courses.extend (c)
      end
   end
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